= O
N = 0 &8 AF S & Al A
20118 & =204 UBHS|I I AFSIZ2XIY ~ ALZIZ2X D
M ALSI =X
FH: I ZMBST (M= /IIZNERE)
SRl MASHSAS Y 28t = (&te: @2
) _ _ bolEN=
2AH -3 - SH2A(SH) - MEAMY - BHES 0] Ao @;OH Hl =2
Ab2l = X ot 482,905, 100 463,569, 153 19,335,947
= 350, 193,920
pJ 1,500,000
=2 20,466,510
[= 110,744,670
I ZMESH (A EX /I ZHMEDBE) 314,241,737 312,722,165 1,519,572
= 287,718,583
) 500,000
[= 26,023, 154
MASHEMSIOHE Y E = 314,241,737 312,722,165 1,519,572
= 287,718,583
pJ 500,000
[= 26,023, 154
IO ZMESEHZ KR (AMH) 202,557,063 209,709,719 A7,152,656
= 186,259,369
[= 16,297,694
308 AXIESHHSOIA 202,557,063 209,709,719 A7,152,656
= 186,259,369
[= 16,297,694
01 MXSHIANEEX2 202,557,063 209,709,719 A7,152,656
ORI ZMSEEIO(MHSAH) 202,557,063
= 186,259, 369
[= 16,297,694
2O ZMESEHSAHX(=H) 50,647,310 49,579,953 1,067,357
= 46,572,239
[= 4,075,071
308 AXIESHSOIA 50,647,310 49,579,953 1,067,357
= 46,572,239
[= 4,075,071
01 IXSHIAEES 50,647,310 49,579,953 1,067,357
ORI ZMEZH(Z=HSA) 50,647,310
= 46,572,239
[= 4,075,071
2O ZMEEAHZHZ(NS) 7,170,492 7,123,644 46,848
= 6,593,556
[= 576,936
308 XXIESHSOIA 7,170,492 7,123,644 46,848
= 6,593,556
[= 576,936
01 UIXNSHIAEES 7,170,492 7,123,644 46,848
O20DZMESH(NE20) 7,170,492
= 6,593,556
[= 576,936
2O ZMES IO X (HAET) 1,589,630 1,543,914 45,716
= 1,461,729
[= 127,901

|
—
|




A AR =X

M2 ) EMEEH(AESK /I ZLMERE)
Sl HASHBASNHYSS (25l &2
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F OH Ofl At ot Hws2
308 XHXISHH SO & 1,589,630 1,543,914 45,716
= 1,461,729
= 127,901
01 RASHZARES 1,589,630 1,543,914 45,716
O2LIZ4 2S04 (A HS01) 1,589,630
2 1,461,729
= 127,901
ASETRR ALY 3,945,815 2,890,460 1,055,355
= 3,628,335
= 317,480
308 XHXISHH SO & 3,945,815 2,890,460 1,055,355
= 3,628,335
= 317,480
01 RASHZARES 3,945,815 2,890,460 1,055,355
O 3= XA 3,945,815
= 3,628,335
= 317,480
R URE0IXR 7,165,676 1,513,666 5,652,010
2 7,046,507
= 119,169
308 XHXISHH SO & 7,165,676 1,513,666 5,652,010
2 7,046,507
= 119,169
01 MXSHBABES 7,165,676 1,513,666 5,652,010
BEEEE L 7,165,676
= 7,046,507
= 119,169
MBI STNESHEAR SR 1,083,965 1,067,537 16,428
2 833,819
= 250, 146
308 XHXISHH SO & 1,083,965 1,067,537 16,428
2 833,819
= 250, 146
01 MXSHBABES 1,083,965 1,067,537 16,428
OASISXSEMHIARSQAT 1,083,965
= 833,819
= 250, 146
STEXNELHIAMA 122,148 0 122,148
= 93,960
= 28, 188
308 XHXISHH SO & 122,148 0 122,148
= 93,960
= 28, 188
01 RXNSHBABES 122,148 0 122,148
OS2 L AN 122,148




A AR =X

B ) ZMEII (AN /IENERT)
ol HASHEASI NN YSE (ol &2
_ HE T
SN -HH - SA(B) - MRAY - BES O &t 04 0Ol At o8 HRE2
= 93,960
= 28,188
= FS g =N 1,149,523 1,272,375 N 122,852
2 1,057,123
e 92,400
308 XX HHSOIA 1,149,523 1,272,375 N 122,852
= 1,057,123
= 92,400
01 MXSHIAEEXZ 1,149,523 1,272,375 A 122,852
OXre&ei 3N 1,149,523
= 1,057,123
& 92,400
NEVERT=EX-TbeE! 3,298,801 2,801,832 496,969
2 2,868,503
= 430,278
308 XX HHSOIA 3,298,801 2,801,832 496,969
= 2,868,523
= 430,278
01 AXEHINELS 3,298,801 2,801,832 496,969
OXS e 2 X 3,298,801
= 2,868,523
= 430,278
ME D2 A 28,212,680 28,615,671 £402,991
2 26,869,219
= 1,343,461
308 NXISHHSOIE 28,212,680 28,615,671 A 402,991
= 26,869,219
= 1,343,461
01 XM EXS 28,212,680 28,615,671 A402,991
OXEZ22 A 28,212,680
= 26,869,219
= 1,343,461
ANBFSTR M H UM X 83,814 95,000 A11,186
= 77,966
& 5,848
308 XNXISHHSOIH 83,814 95,000 A11,186
2 77,966
= 5,848
01 XM EXS 83,814 95,000 211,186
DA RS EZ )HARILAHIXR 83,814
= 77,966
= 5,848
KHEAFS EH O KHAHEE SHOLE 12,000 12,000 0
307 21240 12,000 2,000 0
10 At3I=SXIE X 12,000 12,000 0




A AR =X

HE: ) ZMESZ(NSZN/IZMBRE)
Sl HASHBASNNYSS (sl &2
o SIEN
SM-EH . C(BH) - HRAY - B2 Ofl Ak 04 Sl ko HRs2
CIXHEE AN & OF R XHELBHOL S 12,000
JbAIE E2L0AHS 1,292,937 1,292,937 0
= 1,147,000
& 145,937
308 XHXICHHI SO & 1,292,937 1,202,937 0
= 1,147,000
= 145,937
01 IXNHMBLNEEXS 1,292,937 1,292,937 0
CIOMARPE ERO0IAFS 1,292,937
= 1,147,000
= 145,937
KNSR EEHAHE 150,000 450,000 A300,000
403 XXM SK=201H 150,000 450,000 A300,000
01 MXEMA=2E =R 150,000 450,000 A300,000
IPNR:=PAE- il = Pl 150,000
UII=S=E 2,327,948 1,969,953 357,995
= 2,165,533
& 162,415
308 XX HHSOIA 2,327,948 1,969,953 357,995
= 2,165,533
& 162,415
01 HXSHBAEXS 2,327,948 1,969,953 357,995
mEEEEES 2,327,948
2 2,165,533
& 162,415
KRN HBSA S 62,208 61,200 1,008
308 MHXHHMSOIH 62,208 61,200 1,008
01 RXSHBALES 62,208 61,200 1,008
X ST HE S AR S 62,208
O&Zedxg 80,0002 x 1442 1201 & *30/100 41,472
(OPEE =y 40,0002 1449 » 1201 & 30/ 100 20,736
SHOANER2S 1,491,007 1,293,406 197,601
= 1,043,705
= 447,302
308 XHXICHHI S O & 1,491,007 1,293,406 197,601
2 1,043,705
= 447,302
01 IXNHMBLEEXS 1,491,007 1,293,406 197,601
OF N2 1,491,007
= 1,043,705
= 447,302
MASESSHUALIXNA 216,000 216,000 0
308 XHXIEHHI SO & 216,000 216,000 0




A AR =X

BE: J|ZMBBE (AN ZMBEY)
Sl HASHEASEYEE (el & 2
_ _ _ Muo
SM-EH . C(BH) - HRAY - B2 O] Ak 4 il b o B2
01 RXCSHZLRES 216,000 216,000 0
ONASESSYALIN
30,0002 %8,0000+ 732 %30/ 100 216,000
HASEFHBLNLAL 225,000 225,000 0
403 XHXISHH SR 20 225,000 225,000 0
01 MXSHAZSE 225,000 225,000 0
OMASSEHSL N AL 225,000
pEnE NSV E 7,000 19,500 £12,500
308 XHXISHH SO & 7,000 19,500 £12,500
01 RXCSAZLBES 7,000 19,500 A12,500
mpIEnENEE R 7,000
B2 A2 41,400 41,400 0
308 XHXISHHI SO & 41,400 41,400 0
01 RASHBLRES 41,400 41,400 0
mE RS- be
6,000,000 *232} 2 ¥30/100 41,400
HASFOAYEH2UI QU2 BN A AL 800,640 800,050 590
308 XHXISHH SO & 800,640 800,050 590
01 RASHILRES 800,640 800,050 590
OHASTUALLEH2UE)| QU PE X 800,640
2 A2 C O AR 50,000 0 50,000
301 YBPAD 50,000 0 50,000
01 AtSI2EE 253 50,000 0 50,000
EEPO TP 12,000
PSSV EEEEEEE 38,000
S2HOIS T AL A KOl 4 Z bl 4,680 6,000 A1,320
308 XX SISO F 4,680 6,000 A1,320
01 RXCSHZLRES 4,680 6,000 A1,320
EEEEP PP E=TER=
30, 00021 #5202 ¥30/ 100 4,680
INEMHSTARET 34,000 28,810 5,190
201 Lur2 | 18,000 2,810 5,190
01 Attt 18,000 12,810 5,190
mEEIES=Y] 15,000
OIZMEBZARUBIL S| 15,000
mpEStT 1,000
OMHPELR22=(7Y) 1,000
mEET 2,000
O BRI RS FESAY| 2,000




SN

X{ ZH -
S = -

At = X ot
I ZMEZFH(A
3

&2 HASHSA2HE Y (ctel &
_ _ _ HET
A -3 -H2A(SH) - HEAMY - BES (il & OH Ofl At ot HwsZ

202 O4Hl 11,000 11,000 0

01 ZLHOIHI 11,000 11,000 0
(DI=HEEHARSFAAYI 11,000

203 YRFXH 5,000 5,000 0

03 AIHZ=RARFAY 5,000 5,000 0
O2=0/2=2I 5,000

HAHX AT SHEHE XA 500,000 0 500,000
pJ 500,000

403 XX SHHSK=01H 500,000 0 500,000
Il 500,000

01 MXESHMA=2E R 500,000 0 500,000
OYAXATSHE A XA 500,000
pJ 500,000

ZOHISXSE (A SX/FHLHSKA) 92,824,947 80,661,033 12,163,914
= 53,015,359
pJ 500,000
s 16,341,816
[ 22,967,772

ZOH I A EHOFE XA 52,865,177 44,857,945 8,007,232
= 46,277,408
[ 6,587,769

SSEMHAHAS XA 27,857,118 13,108, 165 14,748,953
= 24,683,522
[ 3,173,596

308 XHXISHRISOIA 27,857,118 13,108, 165 14,748,953
= 24,683,522
[ 3,173,596

01 AXSHBAEERZ 27,857,118 13,108, 165 14,748,953
OEZSH0e 3 27,857,118
= 24,683,522
= 3,173,596

ZO=F X 9,259,771 18,227,897 28,968,126
= 8,204,860
[ 1,054,911

308 XXISHHISOIA 9,259,771 18,227,897 8,968,126
= 8,204,860
[ 1,054,911

01 AXSHBAEERZ 9,259,771 18,227,897 8,968,126
W ES =] 9,259,771
= 8,204,860
= 1,054,911

ZOoHeleZHIXI& 2,038,579 1,072,793 965,786
= 1,896,353
[ 142,226

»




AT MEISX
HE: HUASXSH(ASISX/HLAHESXR)

CHOl: RHOHOIMEOLN K| (el @
_ _ _ Muo
SA BB H(BH) - MBAY - B2 O A+ 24 il b o HRs2

308 X+XI IS Ol & 2,038,579 1,072,793 965,786
2 1,896,353
& 142,226

01 MXSHHAZAHEES 2,088,579 1,072,793 965,786
(& 010 21| X| & 2,088,579
2 1,896,353
& 142,226

0K Q1 X} 14 5] X| 72,641 79,357 ~6,716
2 67,573
= 5,068

308 X+XI IS O & 72,641 79,357 £6,716
2 67,573
= 5,068

01 MXSHHAZAHEES 72,641 79,357 ~6,716
CI 04 Q1 Xt L 3t Bl XI & 72,641
= 67,573
= 5,068

RS eI 87,075 78,903 8,172
2 81,000
& 6,075

308 X+XI IS Ol & 87,075 78,903 8,172
2 81,000
& 6,075

01 MXSHHAZHEES 87,075 78,903 8,172
OFMNUEZIN AR 87,075
= 81,000
= 6,075

R OHQI S =X CHY| X & 45,870 12,038 33,832
3 30,580
= 15,290

308 X+XI IS 0l & 45,870 12,038 33,832
2 30,580
= 15,290

01 MXSHHAZHEES 45,870 12,038 33,832
ORI SSRCH| X2 45,870
= 30,580
= 15,290

SO E R 0§ OIS ) E ALY 359,100 359,100 0
3 256,500
= 102,600

403 Xt GHAIS XH= 0/ 359,100 359,100 0
2 256,500
= 102,600

01 MXISHT=LE 359,100 359,100 0
(s EZHQIFANE AL 359,100




AT MEISX
HE: HUASXSH(ASISX/HLAHESXR)

SR ZHOHQIAHEHOFN X| (&te @2
i} _ _ bSNE =
2N -3 - c2(3H) - NEME - HES Ol AFoH @;OH Hl =2

= 256,500
[ 102,600

ZIOHQIAHIAIZ A A0 22X 75,638 106,272 A30,634
= 65,772
[= 9,866

308 XXIESHHSOIA 75,638 106,272 A30,634
= 65,772
[= 9,866

01 MXSHIANEE2 75,638 106,272 A30,634
OXFOQIAHAILLANZZ XIS 75,638
= 65,772
[= 9,866

ELSNHASEOHCI 2T SHH| X 41,000 41,000 0

308 XXISHHSOI® 41,000 41,000 0

01 MHXNSHILAEES 41,000 41,000 0
OS$SDHASHMQAAESH X 41,000

ZOHQI AL 2 S X2 (HIRA) 6,052,070 7,626,275 A1,574,205
= 5,262,670
[= 789,400

308 XXIESHHSOIA 6,052,070 7,626,275 A1,574,205
= 5,262,670
[= 789,400

01 IXSHIAEES 6,052,070 7,626,275 A1,574,205
OZOHQIAIS B S X2 (HSRA) 6,052,070
= 5,262,670
[= 789,400

ZOHQIALS 2 S X (R =FH|) 49,499 83,309 A33,810
= 34,649
[~ 14,850

307 QI2to|A 49,499 83,309 A33,810
= 34,649
[= 14,850

05 BI2+2IErS 49,499 83,309 A33,810
O OHQIAIS B S X (SH|) 49,499
= 34,649
[= 14,850

NI S KA (HI22) 3,705,879 0 3,705,879
= 3,283,690
[~ 422189

308 AXIESHSOIA 3,705,879 0 3,705,879
= 3,283,690
[= 422,189

01 AXSHINESEZ2 3,705,879 0 3,705,879
OO ESKR(HIRY) 3,705,879
= 3,283,690




AT MEISX
HE: HUASXSH(ASISX/HLAHESXR)

SOl ZOH QI & OHY X (69l &2
_ _ _ Muo
SA B G(E) - NEAY - B 0l & o i HREZ

| < 422,189

ZOHOI = X LKt 2l X 848,476 516,123 332,353
= 652,674
= 195,802

308 XHXIEHH SO 848,476 516,123 332,353
= 652,674
= 195,802

0 NIXCSHMALEES 848,476 516,123 332,353
ORI = XYL X2l X 848,476
= 652,674
= 195,802

ROHQIS N & 20| X2 A 2,265,793 1,629,117 636,676
= 1,678,365
= 587,428

308 XHXIEHH SO 2,265,793 1,629,117 636,676
=2 1,678,365
= 587,428

0 IXCSHALEES 2,265,793 1,629,117 636,676
ORI N T 20/ X2 A 2,265,793
= 1,678,365
= 587,428

2 2 A2 E 04 QI OFOF AP AL S 99,000 0 99,000
= 79,200
= 19,800

308 XHXIEHH SO 99,000 0 99,000
= 79,200
= 19,800

0 HXESHALSES 99,000 0 99,000
(P2 AI 2S04 Q1 OFOHANIH 24 ALY 99,000
= 79,200
= 19,800

YO NS ESHBHOISL S 7,668 7,668 0

101 Q124 7,668 7,668 0

04 JIAHIZRSE S 7,668 7,668 0
ORI DS C2SH 2SS S L Z oI A 7,668

& 01 Q1 = X/ K| 24 2t 6,458,718 5,896,825 561,893
= 3,441,611
2 32,000
= 2,985,107

HOHQIMAZTHAIL2Y 138,413 138,413 0
= 55,365
= 83,048

307 12+0IH 138,413 138,413 0
= 55,365
< 83,048

|
©
|




A A= XD
HE: ZOHQI=XISE (MBS X /HLHEX)
=

CHRl: ROHQI= XIXI & =T (9 &
_ _ _ Muo
SH-EFHHA(FA) - NIRAE - BES Of] AF R '@,‘;OH Hws2

10 ABI=XBE 138,413 138,413 0
ORNQAMAZHIHALSY 138,413
= 55,365
[ 83,048

ZOHQIM A TOHAI L AR 2 100,000 0 100,000
= 30,000
= 70,000

402 QI2EX=0|E 100,000 0 100,000
= 30,000
= 70,000

01 QIAXE=EE 100,000 0 100,000
ORONQIMAZ AL AR E 100,000
= 30,000
= 70,000

SETHANME (2SN 105,000 105,000 0
= 60,000
= 45,000

308 XXl EHH SOI & 105,000 105,000 0
= 60,000
= 45,000

01 IXESHBARES 105,000 105,000 0
OSSN ME(IL)SS XS 105,000
= 60,000
= 45,000

OIS E X2 3,260,588 3,265,724 A5,136
= 2,835,294
[ 425,294

308 XXl EHH SOI & 3,260,588 3,265,724 A5,136
= 2,835,294
= 425,294

01 IXESHBARES 3,260,588 3,265,724 ~5,136
DX OIS HERIZ 3,260,588
= 2,835,294
= 425,294

OHOIE S S 2 392,560 147,400 245, 160
= 274,792
[ 117,768

308 XXl EHXI SOl X 392,560 147,400 245, 160
= 274,792
= 117,768

01 IXESHBAREES 392,560 147,400 245, 160
eSOl P 392,560
= 274,792
= 117,768

A EOHO DS X ALY 50,000 50,000 0




A AR S X1
Hz: IR Z=SE (ASI2X/FHLHSKH)

SRS GRS (S5l &2
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 O AF o8 il b o B2
= 40,000
= 10,000
307 QI2H0I 50,000 50,000 0
= 40,000
= 10,000
T EES 50,000 50,000 0
OO AR RS X AL 50,000
= 40,000
= 10,000
oI 168,084 80,683 87,396
= 146,160
= 21,924
308 XHXISHH SO & 168,084 80,683 87,396
= 146,160
= 21,904
01 MXSHBABES 168,084 80,688 87,396
WINEETE N EA=p AL =S 168,084
=2 146, 160
= 21,924
AL X1 R & OH Q1 B O] Al & A St X 2 500,000 500,000 0
308 XX SIS 01 & 500,000 500,000 0
01 RASHZLRES 500,000 500,000 0
CIX) 7 & O @1 B4 0 Al & A £ X & 500,000
A2 DS A T 6H XA EE ALY 190,000 190,000 0
308 XHXISHHI SO & 190,000 190,000 0
01 RASHZLRES 190,000 190,000 0
OREADTH K A 190,000
DEZHOIY 2SS 20,000 20,000 0
308 XHXICHHI SO & 20,000 20,000 0
01 RXSHBABES 20,000 20,000 0
OREZHE LAY 20,000
NEENEERTEEL- TGRS 203,000 203,000 0
308 XHXISHH SO & 203,000 203,000 0
01 MXSHBABES 203,000 203,000 0
IR X 0 Q1 X/ 2 M E 2 % (01 %) 28,000
CIXI = &0 01 X/ 24 M E 2 & (XHH ) 175,000
HONQITHE X2 M2 (012) 26,400 26,400 0
308 XHXIEHHI SO & 26,400 26,400 0
01 RASHBLRES 26,400 26,400 0
mEVENESERTEERTGED 26,400
ANZHZ QIS S X R HE 2 Y 54,000 54,000 0

_11_




SN
X XH .
S Tt

el

At = X ot
ZHA=ZXNEST (A EXN/HLASIIE)
O = XX & =

S - A . (FH) - MEAIY - BE=2 Al OH &EIE =2}

SN ZH . CA(EH) - HEAIY - BYS = Off Ak oK =
308 XiXIEHH SOIH 54,000 54,000 0
01 MHXESHHBLLES 54,000 54,000 0

DAL E OIS SN 2 HE 2 54,000

ANBSNEL R4 DS 6,000 6,000 0
CUMEIEIES! 6,000 6,000 0
PNEEPVEES 6.000 6,000 0

OAMBI=XgEB24+3 DS 6,000

N X HALSI THEAI L B AKX D & 15,000 15,000 0
307 2120l A 15,000 15,000 0
10 AtBI=X2Z 15,000 15,000 0

CIEN XIS AS HEAIESAX DS 15,000

SOISEALQAAL NS 20,000 20,000 0
307 120l A 20,000 20,000 0
10 AlBI=X 2% 20,000 20,000 0

Os0lSEASQAAL NS 20,000

solSEAgRRESIY 98,673 85,200 13,473
308 XiXIEHH SOIE 98,673 85,200 13,473
01 MHXESHHBLLES 98,673 85,200 13,473

(=0l SEMHQAEEN 98,673

ML HENESY 42,000 36,000 6,000
308 XiXIEHH SOl & 42,000 36,000 6,000
01 HXSHB&2ES 42,000 36,000 6,000

OAZHSZHAWEXNAME 2 42,000

HAUS MR OHOI0I S8 20,000 0 20,000
307 2120l A 20,000 0 20,000
10 AtBI=X2Z 20,000 0 20,000

OgHEAFfl0l S X 20,000

NS HE K| 156,000 75,000 81,000
308 XXl EHHIS Ol 156,000 75,000 81,000
01 MXESHHBLZES 156,000 75,000 81,000

CIZHOHQIDHES X 2 M Ef X 2 156,000

FH =X XSG EE 36,000 49,000 13,000
201 Yer2gy| 8,000 31,000 13,000
01 Ar222lt| 18,000 31,000 13,000

mETEIER =31 15,000
OFOHQI=SXIN 2SN 242 15,000
Oeg+d 3,000

_12_




SN

At = X ot

HE: ZOHQI=XISE (MBS X /HLHEX)
SE = I N (el &2
_ _ _ Muo
SM-EH . C(BH) - HRAY - B2 O] Ak 4 Sl ko HRE2
SEURENEEEEEEET] 3,000
202 O4Hl 13,000 13,000 0
01 =W 13,000 13,000 0
DR 040 = X 257 014 13,000
203 R4l 5,000 5,000 0
03 AlBER AR ETY| 5,000 5,000 0
DR OHQI = RIAI 22 & 5,000
2ETESE2Y 45,000 45,000 0
307 GI2t0I A 45,000 45,000 0
10 AtaI=XIEX 45,000 45,000 0
3= 223 45,000
0 01 = XI € 7 & ©) 3l & 2+ 2 5t 35,000 0 35,000
307 2I2H0I 35,000 0 35,000
10 AtISXIE X 35,000 0 35,000
DR ONQI = KIEHHI & o/ 5] = 242 3 35,000
S SE SN 2SAIEHI XA 100,000 100,000 0
307 QI2+0IA 100,000 100,000 0
10 AtaI=2 X2 X 100,000 100,000 0
SR OfOIZE =R 2 S SHAHI X 2 100,000
O SX 224 K& 40,000 30,000 10,000
307 212t01& 40,000 30,000 10,000
10 AtSIZX2E 40,000 30,000 10,000
(R 0HQI = K| 2H& & 3 X 40,000
DB L ZRTH2E (0/2) 80,000 80,000 0
&2 32,000
= 48,000
307 QI2+0I & 80,000 80,000 0
2 32,000
= 48,000
10 AtRISXEX 80,000 80,000 0
OZHQBOINLSFS2Y(012) 80,000
= 32,000
& 48,000
CHHOI=N BB 270,000 270,000 0
308 XX HHSO0IA 270,000 270,000 0
01 MXEHINELS 270,000 270,000 0
O =X2=222H 270,000
Ol S ZOHQIDIALS S0l THA AL (01 2F) 30,000 45,000 A 15,000
308 XX SIS 0| F 30,000 45,000 15,000

_13_




AT MEISX
HE: HUASXSH(ASISX/HLAHESXR)

el ZOoHI=XIXI2 & (etel: =3
i _ . e ~
SA-E . S(E) - MEAY - BES 0l & o e SImE=ET
01 XM EXS 30,000 45,000 A 15,000
COZONCI DAL E= 201 I A (01 2F) 30,000
ZONQI OIS XIS AHME 2 (01 ) 180,000 180,000 0
308 NXIHHSOIH 180,000 180,000 0
01 XML EXZ 180,000 180,000 0
OIS X HEH S (0] 2) 180,000
NI SESSAMLXA(01L) 35,000 35,000 0
308 XX HHSOIA 35,000 35,000 0
01 AXEHINELS 35,000 35,000 0
OZES S AL X2 (01F) 35,000
SSHHANSMEHEELIN=2E 9,000 0 9,000
308 XX HHSO0IA 9,000 0 9,000
01 XM EXS 9,000 0 9,000
OSSN ELENEE2E 9,000
FUSOIIZEE 2 LAY 9,000 9,000 0
308 NXIHHSOIH 9,000 9,000 0
01 XM EEXS 9,000 9,000 0
O2USOI B EE 2 LA 9,000
MIOGEOHQIZFHERER0I2S 24,000 0 24,000
308 MXIHHSOIH 24,000 0 24,000
01 UHXSHBLEEXZ 24,000 0 24,000
OXHHE I B FHEEZER0I2Y 24,000
ZOHQ XIS ALK& 1,360,500 1,561,000 200,500
ZOHI R = XA ==3] 48,000 39,000 9,000
307 212t01& 48,000 39,000 9,000
10 At2ISXEX 48,000 39,000 9,000
CIZOH QI K = XF&H =3 (12J0 &+ Al ) 48,000
SSEMHLAZSAESKE 40,000 30,000 10,000
307 GI12+0l & 40,000 30,000 10,000
10 AtRIZXEX 40,000 30,000 10,000
OssHMAAzSA2SE 40,000
KIHMIZOH O A A K| a8l X & 100,000 100,000 0
307 QI2t0IA 100,000 100,000 0
10 AtI=S X2 X 100,000 100,000 0
XX 20 o1 A AL X 8 K| & 100,000
SEXIHMZOH el A &AL X & 80,000 60,000 20,000
307 QI2t0IA 80,000 60,000 20,000




SN
X XH .
S Tt

el

At = X ot
ZHA=ZXNEST (A EXN/HLASIIE)
ORI EHM L ALK

SN EH . CS(3H) - NRAY - B Aol e
10 AlRISXEX 80,000 60,000
CIE= XXM 200 & E A 80,000
AZE I E MEIAAS XA 35,000 35,000
307 gI2told 35,000 35,000
10 AtaIZ2XE X 35,000 35,000
CAIZZOHCI DI = THE MBI A AL 35,000
AMAZOHAMBESAS M2 LA 40,000 40,000
307 212t01& 40,000 40,000
10 AtaIZ2XEx 40,000 40,000
DA R 011 2 S OB Al 2 224X & 40,000
ANZLEH=XHE2SE X2 50,000 50,000
307 212t01& 50,000 50,000
10 AlRISXEX 50,000 50,000
OAIZE =X UHE2G K& 50,000
NSt EZWE A 55,000 55,000
307 QI2t0IA 55,000 55,000
10 AlRISXEX 55,000 55,000
OuEetd=sl s 55,000
WSHHA=SK AL 55,000 55,000
307 gI2tol& 55,000 55,000
10 AtaIZ2XE X 55,000 55,000
OSSR FA L2 55,000
NEZHIR2NFE A& 6,000 6,000
307 S12t01& 6,000 6,000
10 At3IZ2XE X 6,000 6,000
OXNEFHIR2 NS A 6,000
KNEZOHLINESALS 60,000 60,000
307 212t01& 60,000 60,000
10 AlRISXEX 60,000 60,000
OXEZOHeIHES ALY 60,000
ZOoHBE =32 HIXI& 35,000 35,000
307 212t01H& 35,000 35,000
10 AlRISXEX 35,000 35,000
O 2 A=3 =l X & 35,000
FIDISHHXA 30,000 30,000
307 gI12told 30,000 30,000
10 At3I=2XE X 30,000 30,000

_15_




AT MEISX
HE: HUASXSH(ASISX/HLAHESXR)

Chl: & OJ Ol CHEI R 8 ALK & (a2
K- B3 S (3IH) - NEAY - Ba 2 Aol e 2t
O SHHAA 30,000
A SEAMNSAEH 20,000 20,000 0
307 QIz2to| A 20,000 20,000 0
10 Af2I=XIEX 20,000 20,000 0
OMEEHISSASERY 20,000
SUESHMNOOIsSKNJANEHEZH 65,000 65,000 0
307 212t01 A 65,000 65,000 0
10 AtEISXIEX 65,000 65,000 0
O=ZWsSEMooIsSKNIdHEY 65,000
K HEOHQIEHOAIE M E S (012F) 150,000 100,000 50,000
307 2I12t01A 150,000 100,000 50,000
10 AISISXIEZX 150,000 100,000 50,000
O X MEOHUEHAIZHMESH (0| Y) 150,000
ool DA XI& 20,000 15,000 5,000
307 QIz2to| A 20,000 15,000 5,000
10 At2I=SXIE X 20,000 15,000 5,000
eI @A K& 20,000
=SB AUS K& 7,000 7,000 0
307 BQI2t0| & 7,000 7,000 0
10 Af2I=XIEX 7,000 7,000 0
Ox3t3HE A& 7,000
orelelg | g Al XI& 6,000 6,000 0
307 212t01 A 6,000 6,000 0
10 AtEISXIEX 6,000 6,000 0
Osoteledga k& 6,000
HNEYHI SIS X & 6,000 6,000 0
307 212t01 A 6,000 6,000 0
10 AISISXIEZ 6,000 6,000 0
OX=EOHI SEHHSI X & 6,000
R ONESESQI RSl E==DNIN k=] 7,000 7,000 0
307 QIz2to| A 7,000 7,000 0
10 At2I=XIE X 7,000 7,000 0
OF3=sANEHMeIsX S 7,000
EHEEOIAS LT OIS AFAIS 20,000 20,000 0
307 QI2to| A 20,000 20,000 0
10 Af2I=XIEX 20,000 20,000 0
O =T ASLTHIIS AFALS 20,000
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AT MEISX
HE: HUASXSH(ASISX/HLAHESXR)

Chl: & OJ Ol CHEI R 8 ALK & (el Ee)
SN C(BH) - NRAY - HES 0l &k o Soe HlmE2
stA3ge2d 15,000 10,000 5,000

307 212t01& 15,000 10,000 5,000
10 AlRISXEX 15,000 10,000 5,000
Osti=eg=249 15,000
NHEBOHIHAL NS XSS 60,000 40,000 20,000
307 212t01H 60,000 40,000 20,000
10 AlRISXEX 60,000 40,000 20,000
OXMEBOHIHA NS XN 2HEHS S 60,000
NEEZOFCIRI 2 HEH A2 SHALS 40,000 40,000 0
307 gI2told 40,000 40,000 0
10 AtaIZ2XE X 40,000 40,000 0
CIX) & & 01 01 K| 2 I Ef o 28 24 5} Al 40,000
HAZHURE RS YIS 10,000 10,000 0
307 S12t01& 10,000 10,000 0
10 AtaIZ2XEx 10,000 10,000 0
OHSZHALLATS 10,000
ZOHA 2N EREHE S 20,000 20,000 0
307 212t01 & 20,000 20,000 0
10 AlRISXEX 20,000 20,000 0
OZMHARL2IME N HE S 20,000
HHOHIHE XL 2 40,000 30,000 10,000
307 212t01& 40,000 30,000 10,000
10 AlRISXEX 40,000 30,000 10,000
O =ZOHCITHEMEHZ S 40,000
SHOH QI DS ARl 22l ALY 67,500 60,000 7,500
308 AUXIHMSOIA 67,500 60,000 7,500
01 AXNSMBANEES 67,500 60,000 7,500
COEOHQI DS Ateil 22l AF S 67,500
K MIZ O eI RI & KHCH 2l 30,000 0 30,000
307 212t01& 30,000 0 30,000
10 AtaIZ2XEx 30,000 0 30,000
XX &0 oI XI & XHCH 3l 30,000
ZSMEFHM=XU3 3,000 3,000 0
307 212t01& 3,000 3,000 0
10 AlRISXEX 3,000 3,000 0
OZ3=sAZEMI=sX2 3,000
ZOHQITHEEH B AL X & 55,000 55,000 0
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A A= XD
HE: NI =X E (MBI =X /HLHEX )
CHol: AOHOIEHH 2 S AKX 2

_ _ _ HET
A -3 -H2A(SH) - HEAMY - BES (il & OH Ofl At ot HwsZ
307 212t01& 55,000 55,000 0
10 ABI=EREX 55,000 55,000 0
OZOHTHEHEAIS XA 55,000
ANS S F NI S B0 = MK 20,000 15,000 5,000
307 2120l A 20,000 15,000 5,000
10 AlZI=SXEE 20,000 15,000 5,000
OZ&A4=SCSHMHAIESZ0HSH XA 20,000
ZOHQIDISAEIIHE X 20,000 20,000 0
307 QIZHOI A 20,000 20,000 0
10 AEI=XREX 20,000 20,000 0
OF ORI SHIIUE X 20,000
HASTHHASXRSE SR 20,000 0 20,000
307 QIZHOIA 20,000 0 20,000
10 AEI=XEX 20,000 0 20,000
OHo BA=CHMA=SXN 2SS =M 20,000
S WS MDA E AL X & 25,000 25,000 0
307 212t01& 25,000 25,000 0
10 ABIEREX 25,000 25,000 0
(& 1S A DI O KA EF AL 25,000
ZHOH QI XAl A X 32,140,552 28,345,263 3,795,289
= 3,296,340
pJ 500,000
s 16,309,816
7 [ 12,034,396
ZOHI AT AL S22 676,172 715,610 39,438
= 520,132
[ 156,040
403 XHXIEHHI S XH2 0l & 676,172 715,610 39,438
= 520,132
[ 156,040
01 RMXSHH=2EE 676,172 715,610 39,438
OO XA EAI LI sES 676,172
= 520,132
= 156,040
TR ATHE A H 2 (01) 1,306,173 1,169,000 137,173
s 310,100
[ 996,073
308 XX HHSO0IA 1,306,173 1,169,000 137,173
= 310,100
[ 996,073
01 UHXSHBAEES 1,306,173 1,169,000 137,173




SN
X XH .
S Tt

el

At = X ot
ZHA=ZXNEST (A EXN/HLASIIE)
ZOHA=SXAIEX A

_ _ HE T
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
DI E TS AIZ 2 (01Y) 1,306, 173
= 310, 100
= 996,073
ZHOHO! A BHAI & K| & 20,805,821 18,916,923 1,888,898
= 15,683,969
= 5,121,852
308 XXl EHHISOI& 20,805,821 18,867,723 1,938,098
£ 15,683,969
= 5,121,852
01 RAXESHBARES 20,805,821 18,867,723 1,938,098
ORI S Al 2 (012) 20,722,451
== 15,683,969
= 5,038,482
DX N MBI LBTHEX 2 29,670
DX MBALS+sZ2Y 7,800
CIZOH QI A4 BHAI 2 A XA 2 2 Al 9,000
CIZ 0N QI A4 BHAl & Q) A KOl OFE X & 27,900
I 04 ©1 A BH Al & ) A KH2 AL HI X & 9,000
SHHABE =N 22 (01Y) 1,300,000 1,100,000 200,000
= 295,000
= 1,005,000
307 ©I2H0I A 1,300,000 1,100,000 200,000
£ 295,000
< 1,005,000
10 AHSIEXEE 1,300,000 1,100,000 200,000
DEHHASSH=X22Y(01Y) 1,300,000
= 295,000
< 1,005,000
FEFNENBLSY 78,000 60,000 18,000
308 X+l EHHISOIH 78,000 60,000 18,000
01 RXESHBALES 78,000 60,000 18,000
OZEINENBSY 78,000
NZZHISSEX 22 (01Y) 350,000 350,000 0
308 XXl EHHISOI& 350,000 350,000 0
01 RXESHBALES 350,000 350,000 0
DA ZEHQ BB =X 22 (01) 350,000
OjQIFAESAIL2Y(01Y) 407,000 407,000 0
308 XXl EHHISOIH 407,000 407,000 0
01 RXESHBALES 407,000 407,000 0
OXHQAFASSAIE2Y(01) 407,000
ORI B S A2 (01Y) 227,000 227,000 0
308 XXl EHHISOIH 227,000 227,000 0
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AT MEISX
HE: HUASXSH(ASISX/HLAHESXR)
ol FHASXAIENE (98

A} OH

20
B
2

01 MXEHHMBdELS 227,000 227,000 0
OXOIHIIBESAIE2F(01Y) 227,000
ZOHoISSHEIIAE2H(01) 96,600 96,600 0
308 AXISHSOIA 96,600 96,600 0
01 MXEHBHELS 96,600 96,600 0
OZMN SSHEINE2H(01) 96,600
ZOHQICISTHEAIZ2Z(012) 83,400 83,400 0
308 NHXISHHMSOIE 83,400 83,400 0
01 AXEHINELS 83,400 83,400 0
OIS HEAILE2H(012) 83,400
SSIEFHUH2ZE(012) 313,000 313,000 0
308 KNXISHHMSOIH 313,000 313,000 0
01 MXEHHBdELS 313,000 313,000 0
O=3tSAHEH2H(01) 313,000
SSTMHANSXNEHE 2L 375,000 375,000 0
308 AHXIEHMSOIA 375,000 375,000 0
01 MXEHMBSELS 375,000 375,000 0
=PSRN = PN Rull = Feape 375,000
ZOHAAMPEHEHSIXIR(01Y) 515,970 515,970 0
308 AXISHSOIA 515,970 515,970 0
01 MXEHMIHELS 515,970 515,970 0
QI RSHHSI XA (01 515,970
SN2 SIsE2(01F) 147,627 123,565 24,062
= 20,747
= 126,880
403 XM SA201H 147,627 123,565 24,062
= 20,747
= 126,880
01 MXISHMAZE = 147,627 123,565 24,062
OZHAI=X I sE22 A (01 147,627
= 20,747
S 126,880
ZOHQI XIS ALSI THE Al & XH2EXI R (012) 77,063 77,063 0
403 AXIHHSA=01H 77,063 77,063 0
01 MXISMA=2E= 77,063 77,063 0
LI OHQI KIS ALSI THE Al & XHEFXIT R 77,063
CAZEMHA SN 22 560,000 400,000 160,000
308 AXIEHHSOIA 560,000 400,000 160,000
01 MXEHHBdEELS 560,000 400,000 160,000




A A= XD
HE: ZOHQI=XIBE (MBS X /HLHEX )
CH9l: FOHQIS X AlL X R

_ _ HE T
SNBSS - MEAY - BES 0] &F o il ot o Bz
OSAZEOASX 2SS (012) 560,000
B EXAIEBA NS 712,656 662,832 49,824
308 NHXIEHHSOIE 712,656 662,832 49,824
01 XM EXS 712,656 662,832 49,824
OHMHA=XAIESAKNE 712,656
HOHQIMEANEI I SsEZ 3,609,070 2,549,400 1,059,670
= 2,776,208
L= 832,862
403 XXM SA=201H 3,609,070 2,549,400 1,059,670
= 2,776,208
& 832,862
01 RXESHMA2E = 3,609,070 2,549,400 1,059,670
OO MEALIISES 3,609,070
= 2,776,208
= 832,862
AFATZHUSE=SAN2E 2= 500,000 0 500,000
| 500,000
403 AXISHHSA=201H 500,000 0 500,000
p) 500,000
01 AXSMIA2E = 500,000 0 500,000
OZFAIZAUSE S 2B 2= 500,000
Il 500,000
XGAS SR MBI AZSH(AMSI SR /FHAAHNSKIH) 25,932,711 22,089,336 3,843,375
= 9,459,978
| 500,000
= 4,124,694
& 11,848,039
KA S XA =X 18,896, 111 19,128,336 N232,225
= 9,459,978
| 500,000
&2 4,124,694
= 4,811,439
KNAA MBI AE AL 10,585,985 9,581,700 1,004,285
= 9,379,978
= 1,206,007
308 MXIHHMSOIA 10,585,985 9,581,700 1,004,285
= 9,379,978
L= 1,206,007
01 HXSMBLEXS 10,585,985 9,581,700 1,004,285
OXIS At AHI A SE THAS 10,585,985
= 9,379,978
& 1,206,007
MIEXESSE233E=2N2E XA 50,000 50,000 0
307 GI12+0l & 50,000 50,000 0
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©OARRI =X
CAEAMEIEXIAEIA
DA AR S XA =&

JEHARISR/HAHSKE)

B . M. CHe (5 NEAY . B2 Al OH HEE Hl =2+
10 AlaISXEX 50,000 50,000 0
OA SXss2323Z3=Xs2I A& 50,000
KA S XS AOILE 25,000 25,000 0
307 BI2tol™ 25,000 25,000 0
10 AlRISXEX 25,000 25,000 0
OXISAta =X 2™ MOl L 25,000
SIS X HEAASALS XA 10,000 10,000 0
307 gI2told 10,000 10,000 0
10 AtaIZ2XEx 10,000 10,000 0
== KNS Z A AR AS 10,000
FURLALIISES 108,000 352,350 A244 350
= 80,000
T 28,000
403 AtXIEMSK=01& 108,000 352,350 A244,350
= 80,000
& 28,000
01 XXM A2E=x 108,000 352,350 A 244,350
OFMRSAEIIsEH 108,000
= 80,000
= 28,000
MISXAESANE 2L =F 80,000 80,000 0
307 QI2t01A 80,000 80,000 0
10 At2ISXIE X 80,000 80,000 0
OAMSISXAESANEZ W 80,000
BAETAE=XEAS 2N 150,000 130,000 20,000
307 QI2t01 & 150,000 130,000 20,000
10 AlRISXEX 150,000 130,000 20,000
OFa=EEA=EXE 23 150,000
A2 S X2 e At 20,000 20,000 0
307 BI2t0l™ 20,000 20,000 0
10 AtaIZ2XE X 20,000 20,000 0
CIAL2I S X2l S &AL 20,000
BE X FBALS SR ALA &3] 30,000 30,000 0
307 QI2tol™ 30,000 30,000 0
10 ABISXEZS 30,000 30,000 0
OB S XAt S X AA Z 30,000
MNISXNEHBHEHSHG(01) 100,000 65,302 34,698
= 32,651
& 67,349
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SN
N

I‘I iH

At2| =Xl 2t

A 2F
-
=

SHA

LIS X /FAAHNEXH)

&2 XA SXALS (ctel: &
_ _ HET
A -3 -H2A(SH) - HEAMY - BES (il & OH Ofl At ot HwsZ
307 212t01& 100,000 65,302 34,698
= 32,651
[ 67,349
10 ABI=EREX 100,000 65,302 34,698
DA SXESHE RS (012) 100,000
2 32,651
[ 67,349
HPEEFHAQAALMSUE 10,000 10,000 0
307 212t01H 10,000 10,000 0
10 ABIEREX 10,000 10,000 0
D=3 AEH=EUE 10,000
AHE| = K| 2 AFXEAI DI L 8,000 8,000 0
307 QI2HOIA 8,000 8,000 0
10 AEI=REE 8,000 8,000 0
CIALS] S Xl 2t S ALAHAI O LE 8,000
MNESTALAATHLZ 196,320 147,000 49,320
301 YLtEAS 196,320 147,000 49,320
01 MEIE2HELH 2 196,320 147,000 49,320
OALSI S XA S AT MEZ XA 196,320
FAURLALULT Y AZ XA 23,010 25,955 AN2,945
308 XXISHHISOIA 23,010 25,955 N2,945
01 AXSHBAEEZ 23,010 25,955 N2,945
O RTAE LA AS XA 23,010
NESTAE SRS 158,400 154,800 3,600
308 XX HHSO0IA 158,400 154,800 3,600
01 UHXSHHBAEES 158,400 154,800 3,600
OAMEISXAESAX &S 158,400
OZd=¢ 80,000% *390H 122 30/ 100 112,320
Oxrz4¢ 40,0002 *320% + 122 x30/100 46,080
MBI SEXAELAXAL AR 7,650 15,975 A8,325
308 XIXISHHISOIN 7,650 15,975 A8,325
01 MXSHHBAEES 7,650 15,975 8,325
AMIASXNANEL L NAZAEX R 7,650
ALEI XAl & Q) A RHR ALH| X & 7,650 15,975 8,325
308 XXIEHHISOIN 7,650 15,975 18,325
01 AXESHBAEEZ 7,650 15,975 8,325
OFA - SHIALYAX LA XA 7,650
ANE ST 2S A 81,000 22,500 58,500
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A AR =X

HM: XA 2R MEIALSHAIZZX/FHLHEXH)
CHel: KIS ASIEXAIL ET (&te @2
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES Ol AFoH @;OH Hl =2
308 AXIESHSOIA 81,000 22,500 58,500
01 IXNSHIAEES 81,000 22,500 58,500
OAMS 2 X 2ESHALSY
18,000,000 * 157 A *30/100 81,000
HAQAAAL2H (0| ) 5,521,696 5,855,779 334,083
=2 4,092,043
[= 1,429,653
308 XXISHHESOIA 5,521,696 5,855,779 334,083
=2 4,092,043
[= 1,429,653
01 AXSHIAANEE2 5,521,696 5,855,779 /334,083
OFMNQUAL2H(01) 5,521,696
=2 4,092,043
[~ 1,429,653
Fopte2SX A=A 10,000 10,000 0
307 QI2to|A 10,000 10,000 0
10 MBIEXIEX 10,000 10,000 0
ORI HEANH2Y 10,000
SHETHChHa & 1,000,000 2,305,000 A 1,305,000
306 =AH= 1,000,000 2,300,000 A 1,300,000
01 =213 1,000,000 2,300,000 A 1,300,000
mEEY =S 1,000,000
Fe=lsoseay 14,000 14,000 0
201 LEHR2YH| 14,000 14,000 0
01 AtR22t2IH] 8,000 8,000 0
OYgxz 8,000
OZ==2XS0IIsE HAR 8,000
02 Z22%H| 6,000 6,000 0
CIX} 24 2HH| 6,000
oF==2XsoDIsE RS2 6,000
A 2 X| Q1 2k 245} 20,000 20,000 0
308 XXISHSOIA 20,000 20,000 0
01 MXSHIASES 20,000 20,000 0
OAISIEX0SXNEALHES S 20,000
AN EXNFILBISAAIL 2,000 2,000 0
303 ZAZ 2,000 2,000 0
01 ZTa2 2,000 2,000 0
OMIEXNZASSZ2AIL 2,000
KIS ASI 2 X AL E=RI 67,000 67,000 0
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SN
D XIGAIEI =TI A I
X2 AFS] = X ALY

X ZH
o=

el

At = X ot

LB ABISX/FHAAHASTE)
by

SN I SRI(S) - NRAY - B sk Soe B RS2
201 LetEdH| 17,000 17,000 0
01 AtE22/Hl 17,000 17,000 0
Dget=3Hl 11,000
OXNGME SR AL F=E LBt =FH| 11,000
O=2g=¢ 6,000
OX Az =X A3 2= 20| 6,000

202 O4Hl 25,000 25,000 0

01 =LA b 25,000 25,000 0
OXS A SN SRFE A 25,000

203 AR 25,000 25,000 0

03 AHEFIHRFAH| 25,000 25,000 0
OXNSAMSEXNEHNLASSHR N 25,000

KA =XNEAMS S XA 110,400 0 110,400
308 MXIHHMSOIA 110,400 0 110,400
01 MXEHMIAELS 110,400 0 110,400

OXIGA 2 XEAM2E X

2,000,000% 230 2=+ 122 %20/ 100 110,400

OFAtSE =X 2SS AME 500,000 0 500,000
| 500,000

403 AXIHHSK=201H 500,000 0 500,000
Il 500,000

01 AXESHMA2E = 500,000 0 500,000
CIOIAL S E SN 2SS ALY 500,000
Il 500,000

SESAMSFE 7,036,600 2,961,000 4,075,600

SIIESSH K& 630,000 538,000 92,000
307 GI2t0I A 605,000 515,000 90,000
10 AtaI=XIEX 605,000 515,000 90,000

O2EHN2SHI X 90,000

O2EHHLBHALY 90,000

O=&0IZZE=EXe22E 80,000

O2&HHEsALY 280,000

OS2 S SXI A 65,000
402 SItXHE01H 25,000 23,000 2,000
01 BItE2EXL 25,000 23,000 2,000

O2EHAIIsE2AMY 25,000

SIE=HA XS X 2,784,100 1,533,000 1,251,100
201 LetEIH| 10,000 0 10,000
01 AtR22/Hl 10,000 0 10,000
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SN ASI =X
HE: XYAMSIZXMEIAZSHASI =X /HAASR)
Sl SRHYAYET (el &
_ _ HE T
SH-EH . C(BH) - NRAY - BES Off &k il b o bRz
REEES=IT 10,000
ORNE2YLETYBILBY| 10,000
202 01t 3,100 0 3,100
01 2hoit] 3,100 0 3,100
mESEETEES I 3,100
301 YrBAS 48,000 0 48,000
NIREEEEPSE 48,000 0 48,000
mESEE=YEIEE T 48,000
307 2I2H0IF 50,000 0 50,000
EEEES 50,000 0 50,000
BEESIES-TNIELE 50,000
308 XX EHHISOI & 2,673,000 1,533,000 1,140,000
01 RXESHBLBES 2,673,000 1,533,000 1,140,000
DSYRTNLREASHIX 33,000
DEXMRTAYULLNZ 2,640,000
ERTEHANZLT 400,000 40,000 360,000
307 BI2HOI 370,000 0 370,000
EENEES 370,000 0 370,000
BEEPELFE=I 150,000
BRI EWEL- By LT, 120,000
OH28l 4 SAH LB F0I2HEN S 50,000
OHE L& &TFEHIIS S A 50,000
308 XX SISO F 30,000 40,000 10,000
01 RXSHZLRES 30,000 40,000 £10,000
(EEABAUS2REDSHIINSAY| 20,000
OZAMSEHESSAZDHA 10,000
SURSARLY 117,500 0 117,500
207 o1t 110,000 0 110,000
REEET 110,000 0 110,000
OZASCSERS A2 110,000
308 XX EHHISOI & 7,500 0 7,500
01 RXESHBLRES 7,500 0 7,500
OSYSSARHY 7,500
6.255 & 8 = 1 2 0 & S ALY 50,000 0 50,000
207 1oty 50,000 0 50,000
NIEEEET 50,000 0 50,000
6. 255 Mt M Z o= 2l 50,000
HEANLUSTBENLHS 3,055,000 650,000 2,405,000
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SA: ASIS T
M XNSASSXAMEIAZSHALZSKI/FHLHSKH)
Yl BRMAAAEA crol @ @
SMN-HHM .. AHA(SH) - MRAY - BES Aol a4 Hlw &2
- co=m s IR ° . (= (=3 =5 0:”/|l|,% Lsa
207 AL Y| 50,000 0 50,000
01 A= SH| 50,000 0 50,000
OZ4=E=" Ot x4l 2H &4+ 50,000
401 A &EHIYL 2048 200,000 0 200,000
01 Al&H| 200,000 0 200,000
OZ4=E2E3 HAHESR 200,000
403 [tXIEMSK=201H 2,805,000 650,000 2,155,000
01 MXISMAZ2E = 2,805,000 650,000 2,155,000
s34 200,000
BEEEETIEIVONE_Es S OESIIEE-LPE ST
A 2,200,000
O XS 02X AE IS 2= At 5,000
CJOH=KIAE S| 2 M S A L MI=SRASY 200,000
OS89 AY 200,000
HE2A AU (ALZIS XD (IIEHDIE) 108,293 127,281 A 18,988
o3 2| 16,523 16,011 512
oled 2| 16,523 16,011 512
101 144l 16,523 16,011 512
03 RIHAZZ2NHE > 16,523 16,011 512
Ot (R54) 16,523
(OPIE=-=1 38,8503 19 249 9,674
O&N3 9,673,6502 *1/12%400% 3,225
O=F=¢ 38,8503 x 1«52 2,021
(@)uPNE=4 38,8503 x1H x15 583
Oul sl 60,0003 x12& 720
OZE St 150,000 *1H 23| 300
SIEET 91,770 111,270 19,500
Jl=23tl 91,770 111,270 A 19,500
201 LBty 25,370 28,370 A 3,000
01 AbR22lH| 25,370 25,370 0
g er=Z | 17,370
OJIE2ANRE 14,370
Otl2=sd = 3,000
=&l 8,000
OAMEEXY AlH| 8,000
202 (48| 13,000 13,000 0
01 =LA b 13,000 13,000 0
OAL2I EX & 2 13,000
203 HRF&H| 25,200 25,200 0
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AT MEISX
M HHEIZHI(AISISXID) (JIEHIIEH

&t JI=3l (etel: =3
_ _ _ Muo
SN H - SR(EH) - NPAMY - BES 0il & o e HlE2
01 JI22SYL=AH 6,600 6,600 0
O=% 6,600
04 RN2IHRF=LH 18,600 18,600 0
(130 Ol of 350,000 34 R M+ 128 12,600
(115 0l of 250,000 x2S A+ 12& 6,000
204 A= HH| 28,200 28,200 0
01 RSP R+=ZH| 28,200 28,200 0
O=% 600,000& 1 ~12& 7,200
& 350,000& x5H 122 21,000
HRES (AR W) (MEISX/HAAHSKIR) 49,797,412 47,969,338 1,828,074
LHEHHXI & 49,797,412 47,969,338 1,828,074
IBRS0HII==2SZSEAAHNTHRES 49,797,412 47,969,338 1,828,074
701 JIEIRI AN ES 49,797,412 47,969, 338 1,828,074
01 JIEt HEE=3 49,797,412 47,969,338 1,828,074
Oess0)I228SEHHRE= 49,797,412
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